J. Korean Soc. Math. Educ. Ser. B: Pure Appl. Math. http://dx.doi.org/10.7468/jksmeb.2022.29.1.31 Volume 29, Number 1 (February 2022), Pages 31–35

# A SUM OF AN ALTERNATING SERIES INVOLVING CENTRAL BINOMIAL NUMBERS AND ITS THREE PROOFS

Yue-Wu Li  $^{\rm a}$  and Feng Qi  $^{\rm b,\,c,\,*}$ 

Dedicated to retired Professor Bo-Yan Xi at Inner Mongolia University for Nationalities, China

ABSTRACT. In the note, by virtue of Abel's theorem and Abel's limit theorem in the theory of power series, the author provides three proofs for a sum of an alternating series involving central binomial numbers.

### 1. AN ALTERNATION SERIES INVOLVING CENTRAL BINOMIAL NUMBERS

On 29 June 2021, Vuk Stojiljkovic (University of Novi Sad, Serbia) asked on the ResearchGate of the alternating series

(1) 
$$\sum_{k=1}^{\infty} \frac{(-1)^k \binom{2k}{k}}{2^{2k} k}$$

In this note, we give an answer to the sum of the alternating series (1).

**Theorem 1.** The sum

(2) 
$$\sum_{k=1}^{\infty} \frac{(-1)^k}{k} \frac{1}{2^{2k}} \binom{2k}{k} = 2\ln[2(\sqrt{2}-1)]$$

is valid.

We will provide three proofs of Theorem 1 in next section.

# 2. THREE PROOFS FOR THE SUM OF AN ALTERNATION SERIES

In this section, we provide three proofs for the sum in (2).

2020 Mathematics Subject Classification. Primary 41A58; Secondary 11B65, 26A09.

Key words and phrases. Abel's theorem, Abel's limit theorem, sum, alternating series, central binomial number, arcsine, series expansion, binomial expansion, proof.

\*Corresponding author.

 $\bigodot 2022$ Korean Soc. Math. Educ.

Received by the editors July 06, 2021. Accepted August 23, 2021.

*First Proof.* It is common knowledge [1, p. 81, 4.4.40] that the arcsine function  $\arcsin z$  has the series expansion

$$\arcsin z = z + \sum_{k=1}^{\infty} \frac{(2k-1)!!}{(2k)!!} \frac{z^{2k+1}}{2k+1}, \quad |z| < 1.$$

This series expansion can be reformulated [4, p. 58, (1.1)] as

$$\arcsin z = \sum_{k=0}^{\infty} \frac{1}{2^{2k}} \binom{2k}{k} \frac{z^{2k+1}}{2k+1}, \quad |z| < 1.$$

Differentiating with respect to z, we obtain

$$\frac{1}{\sqrt{1-z^2}} = \sum_{k=0}^{\infty} \frac{1}{2^{2k}} \binom{2k}{k} z^{2k} = \sum_{k=0}^{\infty} \binom{2k}{k} \binom{z}{2}^{2k}, \quad |z| < 1.$$

Let  $\left(\frac{z}{2}\right)^2 = -w$ , that is,  $z^2 = -4w$ . Then

(3) 
$$\frac{1}{\sqrt{1+4w}} = \sum_{k=0}^{\infty} (-1)^k \binom{2k}{k} w^k, \quad |w| < \frac{1}{4}.$$

We can rewrite this series expansion in the form

(4) 
$$\frac{1}{w}\left(\frac{1}{\sqrt{1+4w}}-1\right) = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} w^{k-1}, \quad 0 < |w| < \frac{1}{4}.$$

Integrating on both sides with respect to  $w \in (0, x] \subseteq (0, \frac{1}{4})$ , we acquire

$$\begin{split} \int_0^x \frac{1}{w} \left( \frac{1}{\sqrt{1+4w}} - 1 \right) \mathrm{d}\, w &= \int_0^x \frac{-4}{\sqrt{1+4w} \left( 1 + \sqrt{1+4w} \right)} \,\mathrm{d}\, w \\ &= -2 \int_0^x \frac{\mathrm{d}\ln\left( 1 + \sqrt{1+4w} \right)}{\mathrm{d}\, w} \,\mathrm{d}\, w \\ &= 2 \left[ \ln 2 - \ln\left( 1 + \sqrt{1+4x} \right) \right] \\ &= \sum_{k=1}^\infty (-1)^k \binom{2k}{k} \int_0^x w^{k-1} \,\mathrm{d}\, w \\ &= \sum_{k=1}^\infty (-1)^k \binom{2k}{k} \frac{x^k}{k} \end{split}$$

for  $0 < x < \frac{1}{4}$ . Accordingly, by Abel's theorem [2, p. 234, Theorem 9.20], it follows that

$$\sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{x^k}{k} = \begin{cases} 0, & x = 0\\ 2\ln\frac{\sqrt{1+4x} - 1}{2x}, & x \neq 0 \end{cases}$$

for  $|x| < \frac{1}{4}$ . By virtue of Abel's limit theorem in [2, p. 245, Theorem 9.31], taking  $x = \frac{1}{4}$ , we arrive at

$$\sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{(1/4)^k}{k} = \sum_{k=1}^{\infty} \frac{(-1)^k}{k} \frac{1}{2^{2k}} \binom{2k}{k} = 2\ln\left[2(\sqrt{2}-1)\right].$$

In conclusion, we obtain the sum (2). The first proof is complete.

Second Proof. It is easy to see that

$$\sum_{k=1}^{\infty} \frac{(-1)^k}{k} \frac{1}{2^{2k}} \binom{2k}{k} = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{1}{k} \left(\frac{1}{4}\right)^k.$$

Let

$$f(x) = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{x^k}{k}.$$

Then

$$f'(x) = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} x^{k-1}$$
  
=  $\frac{1}{x} \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} x^k$   
=  $\frac{1}{x} \left[ \sum_{k=0}^{\infty} (-1)^k \binom{2k}{k} x^k - 1 \right]$   
=  $\begin{cases} -2, & x = 0\\ \frac{1}{x} \left( \frac{1}{\sqrt{4x+1}} - 1 \right), & x \neq 0 \end{cases}$ 

for  $0 < |x| < \frac{1}{4}$ , where we used the series expansion (3). Integrating in  $x \in (0, t] \subseteq (0, \frac{1}{4})$  on both sides, we find

$$\int_0^t f'(x) \, \mathrm{d}\, x = f(t) - f(0)$$
  
=  $\int_0^t \frac{1}{x} \left(\frac{1}{\sqrt{4x+1}} - 1\right) \, \mathrm{d}\, x$   
=  $\begin{cases} 0, & t = 0; \\ 2\ln\frac{\sqrt{4t+1} - 1}{2t}, & t \neq 0. \end{cases}$ 

As a result, we acquire

$$f(t) = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{x^k}{k} = \begin{cases} 0, & t = 0\\ 2\ln\frac{\sqrt{4t+1}-1}{2t}, & t \neq 0 \end{cases}$$

for  $|t| < \frac{1}{4}$ . By virtue of Abel's limit theorem in [2, p. 245, Theorem 9.31], letting  $t = \frac{1}{4}$ , we discover

$$f\left(\frac{1}{4}\right) = \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \frac{(1/4)^k}{k} = \sum_{k=1}^{\infty} \frac{(-1)^k}{2^{2k}k} \binom{2k}{k} = 2\ln\left[2(\sqrt{2}-1)\right].$$

Consequently, we conclude the sum (2). The second proof is complete.

Third Proof. It is well known [3, p. 108, 4.6.7] that the binomial expansion is

(5) 
$$(1+z)^{\alpha} = 1 + \frac{\alpha}{1!}z + \frac{\alpha(\alpha-1)}{2!}z^2 + \frac{\alpha(\alpha-1)(\alpha-2)}{3!}z^3 + \cdots$$

for  $\alpha \in \mathbb{C}$  and |z| < 1. Taking  $\alpha = -\frac{1}{2}$  in the binomial expansion (5), we acquire

$$\frac{1}{\sqrt{1+z}} = 1 - \frac{1!!}{2} \frac{z}{1!} + \frac{3!!}{2^2} \frac{z^2}{2!} - \frac{5!!}{2^3} \frac{z^3}{3!} + \cdots$$
$$= 1 + \sum_{k=1}^{\infty} (-1)^k \frac{(2k-1)!!}{2^k} \frac{z^k}{k!}$$
$$= 1 + \sum_{k=1}^{\infty} (-1)^k \frac{(2k)!!}{2^k (2k)!!} \frac{z^k}{k!}$$
$$= 1 + \sum_{k=1}^{\infty} (-1)^k \frac{(2k)!}{(k!)^2} \frac{z^k}{2^{2k}}$$
$$= 1 + \sum_{k=1}^{\infty} (-1)^k \binom{2k}{k} \binom{z}{4}^k$$

for |z| < 1. Setting z = 4w, we produce

$$\frac{1}{\sqrt{1+4w}} = \sum_{k=0}^{\infty} (-1)^k \binom{2k}{k} w^k, \quad |w| < \frac{1}{4}.$$

This series expansion is equivalent to the series expansion (4). The rest of this proof is same as texts after the series expansion (4) in the first proof. The third proof is thus complete.  $\Box$ 

#### Acknowledgment

The authors thank anonymous referees for their careful corrections to, valuable comments on, and helpful suggestions to the original version of this paper.

The first author, Dr. Yue-Wu Li, was partially supported by the Doctors Foundation of Hulunbuir University (Grant No. 2018BS12) in China.

#### References

- M. Abramowitz & I.A. Stegun (Eds): Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables. National Bureau of Standards, Applied Mathematics Series 55, Reprint of the 1972 edition, Dover Publications, Inc., New York, 1992.
- T.M. Apostol: Mathematical Analysis. Second edition, Addison-Wesley Publishing Co., Reading, Mass.-London-Don Mills, Ont., 1974.
- F.W.J. Olver, D.W. Lozier, R.F. Boisvert & C.W. Clark (eds.): NIST Handbook of Mathematical Functions. Cambridge University Press, New York, 2010; available online at http://dlmf.nist.gov/.
- F. Qi, C.-P. Chen & D. Lim: Several identities containing central binomial coefficients and derived from series expansions of powers of the arcsine function. Results Nonlinear Anal. 4 (2021), no. 1, 57–64; available online at https://doi.org/10.53006/rna.867047.

<sup>a</sup>School of Mathematics and Statistics, Hulunbuir University, Hulunbuir 021008, Inner Mongolia, China *Email address:* yuewul@126.com

URL: https://orcid.org/0000-0002-8858-6768

<sup>b</sup>School of Mathematical Sciences, Tiangong University, Tianjin 300160, China

<sup>c</sup>Institute of Mathematics, Henan Polytechnic University, Jiaozuo 454010, Henan, China

Email address: qifeng618@gmail.com URL: https://orcid.org/0000-0001-6239-2968